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O&E=E=4 XMeldx= =Z22A 350,000& 123 4,200
oNgs8gds X8 8+ &S 4,000
O=E0Igd &gs 2 HH5 2 7,000
— &= 4,200
— &5 2,800
O&JI|otM2e = 120,000& *123] 1,440
O DIga HLES v 16,000& »35H 560
OHHEANE A2E P& 200
E28tA 42| 2,000
O & Ht HEHIIZE XMl 5,000
Olg & && 27,050
— =3 50,000& *365 18,250
— X 50,000& 116 5,800
— =X (H0IE S5) 50,000& *60L! 3,000
OYXIHIIE Hel 5,000
Oogxg F3F HEHI 30,000& 33| 90
OEFREE= 15,000 x2= x123] 360
O8I 2z 500, 000& =2CH 1,000
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2H: BEESDY
M HOIISHel JIetAIE &=
o9 NEess HIlSUL (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHEAIE &L HESAE SNEL(ZEI] S)
5,000, 000& =14 CH 5,000
02 =294l 77,260 73,560 3,700
ONgd &I 1,500,000& *123] 18,000
Olg & =sA2el 3,500
ONEE &% AIEE 50,000& x12& 600
O=24D] KX 8,000
OMSBA L8 5,000
O&FSIE FAH| 60,000& *23] 120
OJtaz 100, 000& *33] 300
ozagxe 2 36,500
—3=2UE 7,000
—3== 5,000
—3=24E 3,500
— 34X 7,000, 000& =3CH 21,000
OHUESHSIHYW(MYIIMNERE 25 22) 5,000
Osdgstl 20,000& 123 240
206 M = Hl 27,000 27,000 0
01 M= bl 27,000 27,000 0
O&Esr MHeldE ¢ 5,000
OMEE A=2AE FL(LFAMAHAM, 7ollol=E
XA 7,000
Oog48e 2 2,500, 000& *x2CH *23] 10,000
Ol €428 22 5,000& *1,000kg 5,000
401 Al HI L 2Tl 55,000 130,000 AT75,000
01 A& HI 55,000 129,028 NT4,028
OFES XMeAlE BxRe S 40,000
OME MY I =HE E29A Y 15,000
405 XtabF S| 1,000 800 200
01 AL 2 EF SHI 1,000 800 200
Og & TV 2 1,000,000 1CH 1,000
MAINZZH MAKY =HHIS X 10,000 20,000 £10,000
T 2,000
= 8,000
201 Bt A | 10,000 20,000 A 10,000
T 2,000
= 8,000
01 AFR2 22l Yl 10,000 20,000 A 10,000
OMYIIZSEH MAXS =HH S X 10,000
= 2,000
= 8,000
SEMHHY =2H&H=2 N 46,200 33,000 13,200
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&S NS HIIS2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,400
< 500
e 43,300
301 Lete &3 46,200 33,000 13,200
=2 2,400
< 500
i 43,300
MIEEd3 46,200 33,000 13,200
OsZHHE =72 N& 43,800
< 500
s 43,300
O=ZHHlE ™MelXJAY 2,400
= 2,400
StEGtM Dl ALY 86,000 57,143 28,857
= 60,000
e 26,000
101 124 dl 77,400 51,000 26,400
= 54,180
e 23,220
4 DIt Z2XREES 77,400 51,000 26,400
Od&A3 ALY D ALY 77,400
= 54,180
[ia 23,220
201 Let24d] 8,600 6,143 2,457
= 5,820
s 2,780
01 At 22/l 8,600 6,143 2,457
Od& a4 Dl EAY 8,600
= 5,820
e 2,780
Aol AEUAX FHASY 18,795 15,691 3,104
J| 16,915
S 940
s 940
301 et d s 18,795 15,691 3,104
Jl| 16,915
= 940
s 940
NMIIEEd= 18,795 15,691 3,104
OABIIol AFUAX A A 18,795
J| 16,915
< 940
s 940
L=SY0E EAH XNJAY 288,000 196,800 91,200
= 144,000
s 144,000
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02 3|25 0l CHSHCH =& At & HI 288,000 196,800 91,200
O 01E BN XA 288,000
= 144,000
s 144,000
SSTGHY &35 XIAAMZ 60,000 0 60,000
= 18,000
s 42,000
401 AIEHI L 20 60,000 0 60,000
= 18,000
[ia 42,000
01 A& HI 60,000 0 60,000
OS8Ot &ESXEAY 60,000
= 18,000
e 42,000
SE =H F0U=FAANY 25,000 0 25,000
401 Al& I & 28I 25,000 0 25,000
01 A& HI 25,000 0 25,000
OHJIS HEH == AY 25,000
S(83235 ) 4,675,545 4,928,071 A 252,526
Hel XI& 4,675,545 4,928,071 A 252,526
T=CALEESH dES 4,216,511 4,528,492 A 311,981
701 JIEtl AN ES 4,216,511 4,528,492 A 311,981
01 JIEtSI HEES 4,216,511 4,528,492 A 311,981
O AHELESNH HES 4,216,511
St AL EESH HES 459,034 399,579 59,455
701 JIEtSI HEES 459,034 399,579 59,455
01 JIEtSI HE &= 459,034 399,579 59,455
Oot=EZ At ESESH HES 459,034
HE2IZH (22 W) 77,737 81,241 A 3,504
2l 77,737 81,241 A 3,504
ZES W JIE23Hl 77,737 81,241 A 3,504
201 L2l 34,020 36,720 A2,700
01 At 22l 34,020 36,720 A2,700
OS A0l &t 34,020
— S W0 At 30,020
— S 2l SH A 4,000
202 o4dl 39,217 40,081 A 864
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